RE&MH FR25F9ADEFEAN

A0 110,484 (-72)
5 53,598 (-27)
T 56,886 (-45)
2 44,020tt% (-28)

x () AFRETAL
XA 25F9H 18RE

Rl AOZX Frk25F9H1H

BEAOGR FEERSRALD (EEREAGIRCEFRSNIZALD) &E@E —BHUEIEA.

g AR 18R Si% 18R ik 1R | MR | IR
JE\ERH] 429 5 186 1 243 4 185 2
ELH] 216 0 100 0 116 0 77 0
E=H] 135 -1 61 -1 74 0 63 0
KEH] 39 1 16 1 23 0 18 0
WNEL] 12 0 4 0 8 0 5 0
] 85 0 36 0 49 0 25 0
Eayestil] 50 0 7 0 43 0 7 0
P L ] 496 1 266 2 230 -1 286 3
FEH] 26 -1 15 0 11 -1 17 0
1 H] 199 1 86 0 113 1 94 1
= =[] 178 1 96 1 82 0 96 1
] 227 -1 113 -1 114 0 120 -1
ZH] 151 -2 69 0 82 -2 65 -1
& SHT 483 1 240 -1 243 2 233 -2
FFrH] 83 2 38 1 45 1 49 2
1GRaH] 112 0 52 -1 60 1 41 0
FASEH] 168 1 82 1 86 0 95 0
—&T 0 0 0 0 0 0 0 0
NET 107 0 52 0 55 0 51 0
T&ET 136 -1 64 -1 72 0 54 0
N&ET 88 0 40 0 48 0 38 0
NET 163 0 65 -1 98 1 31 -2
T&ET 250 -1 94 1 156 -2 119 0
1ok ] 366 1 159 0 207 1 189 0
SiEH] 2,589 -5 1,260 -4 1,329 -1 1,079 -4
RFRE] 3,485 0| 1,677 -1 1,808 1 1,376 2
] 1,580 -3 776 0 804 -3 578 -1
B a)=<tiil) 1,819 9 930 4 889 5 801 4
FrERHE] 424 -3 195 -1 229 -2 182 0
FHATHT 3,645 -12| 1,822 -8 1,823 -4 1,609 -5
LLAEHT 2,403 11} 1,140 1] 1,263 10 983 4




VEIRH] 2,043 -2 981 2| 1,062 -4 647 3
Ll e 4,873 17 2,382 4 2,491 13| 1,898 4
MEigEs] 2,169 -1 1,067 of 1,102 -1 859 -2
EBZRHE] 9,486 -3 4,632 2| 4,854 -5 3,628 1
=2kH] 4,003 -16| 1,961 -4 2,042 -12( 1,516 -7
[ EHET 1,157 -2 595 -1 562 -1 480 -3
EREFHIER — 2,597 -3 1,239 1 1,358 -4 899 2
EREFHTERS) 1,853 0 891 -2 962 2 667 2
EREFHT PG 7> 589 -3 289 -3 300 0 213 0
Er7KH] 5,656 -9 2,675 -5 2,981 -4 1,947 -6
g lii) 159 -3 153 -3 6 0 150 -3
ERH] 17 -4 9 -2 8 -2 9 -2
ETRE—TH 390 -3 204 -3 186 0 174 -2
ETREIZTH 293 1 128 1 165 0 136 0
ETREI=TH -1 0 -1 0 0 0 -1 0
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 231 -1 109 -1 122 0 77 0
rES 0 0 0 0 0 0 0 0
TEE—TH 420 2 199 2 221 0 192 0
TEEZTH 720 -5 347 -1 373 -4 335 -2
TEE=TH 307 -1 151 -1 156 0 139 0
ERE—TH 470 -7 221 -3 249 -4 223 -4
RERE—TH 689 3 317 1 372 2 327 0
EE=TH 408 0 204 0 204 0 215 0
EMPRET—T B 318 -3 133 -1 185 -2 146 -1
Gl = 502 0 238 0 264 0 242 0
JtFEILE—TH 178 0 82 0 96 0 85 0
JtFEILETZTH 402 -3 185 -3 217 0 179 -1
A —TH 274 -3 145 -1 129 -2 145 -1
AR —TH 457 -3 234 -2 223 -1 244 -3
FEH—TH 132 0 62 0 70 0 57 0
FZHZTH 335 1 154 0 181 1 158 0
[REEIH 315 -1 148 0 167 -1 221 -1
wFEE—TH 121 -2 58 -1 63 -1 62 0
RFEE =T H 267 -1 113 0 154 -1 97 0
RAEI—TH 455 0 210 1 245 -1 175 1
FREIZTH 371 -7 171 -4 200 -3 157 -1
RREI=TH 515 1 243 -1 272 2 226 0
FRAFETI T H 403 0 181 1 222 -1 162 -1
FRETRTH 596 -1 260 0 336 -1 223 1
FuRE—TH 218 5 121 4 97 1 105 3
FUEEI”TH 375 -1 217 0 158 -1 216 1
HIIEEE—TH 461 2 226 2 235 0 218 2




HIGEAI”TH 322 4 149 0 173 4 130 1
BRE—TH 154 0 79 0 75 0 82 0
BRI "TH 626 -5 298 1 328 -6 283 -3
BRE=TH 518 -6 263 -2 255 -4 224 -1
BEEMTH 240 1 105 0 135 1 99 0
EEEATH 715 3 328 0 387 3 355 2
Kt —TH 314 0 156 0 158 0 138 1
XK —TH 225 -1 110 -1 115 0 89 -1
AFH—TH 124 -4 61 -2 63 -2 65 -2
AFHZTH 10 0 5 0 5 0 5 0
AFH=TH 185 -1 93 -1 92 0 84 -1
TEEIA—TH 671 2 321 2 350 0 243 1
TEsETFE T H 330 -1 154 0 176 -1 127 -1
TEEAR=TH 394 0 212 0 182 0 150 -1
TEEIFEM T B 504 6 234 4 270 2 210 3
TEEAATH 619 -7 298 -4 321 -3 259 1
TEEIPRNT B 362 1 192 1 170 0 171 0
TEsETFEE T H 647 2 312 1 335 1 301 1
TEEIFEA\TH 703 -1 339 -1 364 0 296 -4
TERER—TH 1,465 -1 701 -1 764 0 617 -1
THREERTTH 409 -3 211 -1 198 -2 167 -1
TEREIR=TH 679 -7 327 -5 352 -2 280 -3
TEREIERIUT B 1,146 3 561 6 585 -3 465 1
TEHREERATH 990 -3 510 -3 480 0 500 -5
T2REERANT B 549 -3 276 -3 273 0 302 -1
TEZRERETH 1,509 -3 771 -2 738 -1 654 0
TARETERNTH 1,225 -1 555 -3 670 2 573 -2
TEREIRAT B 425 2 207 3 218 -1 143 2
TEEIE—TH 87 0 50 0 37 0 70 -1
TEEIEZTH 100 -1 66 -1 34 0 79 0
4N st 81,615 -76| 39,619 -40( 41,996 -36 33,575 -32
AEH]E 106 -1 46 0 60 -1 67 -1
AEHTA 107 3 52 0 55 3 60 1
AEHERE 13 0 5 0 8 0 10 0
AREHT/NBR 115 0 53 0 62 0 51 0
AEHKH 9 0 5 0 4 0 6 0
AEHTEH 62 -2 26 0 36 -2 26 0
AEH R 10 0 5 0 5 0 7 0
AEHE /R 9 0 3 0 6 0 5 0
45 12 0 4 0 8 0 9 0
AEMIXEEST 443 0 IR 0 244 0 241 0
IN= 1 AVES] 34 -1 17 -1 17 0 22 0
IN= 1RO 38 0 17 0 21 0 27 0




IN= I E0) 38 0 17 0 21 0 23 0
[1: SHTER S 30 0 11 0 19 0 19 0
[LERTEAR 58 -1 27 -1 31 0 33 0
[LSHETHH 24 0 13 0 11 0 16 0
NG9 26 0 17 0 9 0 17 0
[LEE/NFS 36 1 16 0 20 1 16 1
FEH] 36 0 21 0 15 0 23 0
[ S EEET 320 -1 156 -2 164 1 196 1
SUEERSET 763 -1 355 -2 408 1 437 1
TR ET [ A _E 1,370 -4 661 -2 709 -2 486 -3
T2 X T ] EH 720 2 311 2 409 0 227 0
&R R 1,264 4 604 1 660 3 420 -1
e 2K T iz E P 1,051 3 523 2 528 1 372 1
e 1,360 -3 668 -1 692 -2 457 -2
e 1,155 3 538 1 617 2 424 2
TN ] = AR 3,967 2 1,921 2| 2,046 0| 1,427 2
TR X ERET 10,887 7| 5,226 5 5,661 2| 3,813 -1
ERILIET_ESREESF 2,115 0 998 3 1,117 -3 702 2
ERILIE] RSB 2,633 2( 1,311 3| 1,322 -1 922 -1
ERILIETER/)N I 2,031 -3 1,017 -2 1,014 -1 789 1
BRI BT PaR T 1,521 -3 750 -2 771 -1 515 -2
BRI LI BT iF 1,153 2 573 2 580 0 419 2
ERLLIET) 1R 2,251 -5 1,110 -2 1,141 -3 812 -1
ERILIE] R T 5,515 5 2,639 8 2,876 -3 2,036 3
BRI [X &R 5T 17,219 -2| 8,398 10| 8,821 -12( 6,195 4
=) 5t 110,484 -72| 53,598 -27| 56,886 -45| 44,020 -28




